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’ 100kN/mM##BZ % 1.00/ 0.00 ~ 062 109.24|3mZ#BZRB| - ~ = - -| 100kN/MZE#B 22 1.00] 10.84 ~ 12.81 109.24|3m%#B% % ol ~ = - -
TS 1.00] 062 ~ 841 100.00] Zhlist | 000 ~ 841 207 10.48 ZThLLSE 1.00] 500 ~ 10.84 100.00| Zh it | 500 ~ 12.81] 207 10.48
9 100kN/mM#%#BZ % 1.00/ 000 ~ 3.19 150.96|3m%#E% 5| 0.00 ~ 0.12| 3.06 15.48| 100kN/m%#z % 1.00| 1053 ~ 2887 150.96|3m%#B% 5| 25.00 ~ 28.87| 3.06 15.48
ZThLS 1.00] 319 ~ 1097 100.00] Zh st |0.12 ~ 10.97| 3.00 15.16 Zh LS 1.00] 500 ~ 1053 100.00f #hlist | 500 ~ 25.00] 3.00 15.16
3 100kN/mM##8Z % 1.00/ 000 ~ 3.15 150.32|3m#%#8% 5| 0.00 ~ 0.31| 3.18 16.05| 100kN/m%# x5 1.00| 10.68 ~ 27.05 150.32|3m%#B% 5| 25.00 ~ 27.05| 3.18 16.05
ZhLS 1.00| 3.15 ~ 10.94 100.00] Zh st 031 ~ 10.94| 3.00 15.16 Zh LS 1.00] 500 ~ 10.68 100.00| #hlust | 500 ~ 25.00] 3.00 15.16
4 100kN/mM#%# 8% % 1.00/ 000 ~ 329 152.81|3m%#8% 5| 0.00 ~ 0.43| 3.25 16.44| 100kN/m%# 2% 1.00] 10.92 ~ 29.10 152.81|3m%#E% 5| 25.00 ~ 29.10| 3.25 16.44
ZThLS 1.00/ 329 ~ 11.08 100.00] Zh st 043 ~ 11.08] 3.00 15.16 Zh LS 1.00] 500 ~ 10.92 100.00| #hlist | 500 ~ 25.00] 3.00 15.16
5 100kN/mM#%# 8% % 1.00/ 0.00 ~ 3.01 147.82|3mZ#BZRD| - ~ = = -| 100kN/iZi#8 % % 1.00/ 10.60 ~ 29.10 147.82|3m%i#BZ % = ~ = = =
ZhLS 1.00] 3.01 ~ 10.79 100.00] #hlist | 0.00 ~ 10.79] 297 15.00 Zh LS 1.00] 500 ~ 10.60 100.00| Zhlist | 500 ~ 29.10| 297 15.00
6 100kN/mM#%#BZ % 1.00/ 000 ~ 297 147.23|3m%#8% 5| 000 ~ 0.24| 3.13 15.84| 100kN/m%# 2% 1.00| 10.60 ~ 25.15 147.23|3m%#E% 5| 25.00 ~ 25.15| 3.13 15.84
ZThLS 1.00] 297 ~ 10.76 100.00] #h st |0.24 ~ 10.76] 3.00 15.16 Zh LS 1.00] 500 ~ 10.60 100.00f #hlist | 500 ~ 25.00| 3.00 15.16
7 100kN/mM#%# 8% % 1.00/ 000 ~ 066 109.79|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1053 ~ 12.40 109.79|3m%#B% % = ~ = = =
Lot 1.00] 0.66 ~ 8.44 100.00] Zh L4t | 0.00 ~ 8.44| 2.20 11.12 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 1240 2.20 11.12
8 100kN/mM##BZ 5 1.00{0.00 ~ 1.10 116.59|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.58 ~ 13.92 116.59|3m%E#B %% = ~ = = =
ZnLst 1.00f 1.10 ~ 8.89 100.00] Zh L4t | 0.00 ~ 8.89| 2.24 11.31 Zhn st 1.00f 5.00 ~ 10.58 100.00f Z1List | 500 ~ 13.92| 224 11.31
9 100kN/mM##B % % 1.00{ 0.00 ~ 0.38 105.63|3ImZ 25 ol ~ - = —| 100kN/mM%#8 % % 1.00{ 10.53 ~ 11.57 105.63|3m%*iB 25 =l ~ - - -
Zrn Lot 1.00{ 038 ~ 8.17 100.00] Zhist |0.00 ~ 8.17] 2.18 11.04 st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 1157 2.18 11.04
10 100kN/mM##BZ % 1.00{0.00 ~ 0.87 113.04|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 10.71 ~ 13.50 113.04|3m%E#B %% = ~ = = =
ZnLst 1.00] 0.87 ~ 8.66 100.00] Zh L4t | 0.00 ~ 8.66] 2.10 10.61 Zh st 1.00f 500 ~ 10.71 100.00f Z1List | 500 ~ 13.50f 2.10 10.61
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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